
NSN 4320-01-438-7725
Pumping Assembly Repair Kit - Page 1 of 1

View Online at https://aerobasegroup.com/nsn/4320-01-438-7725

Component Quantity:

42

Component Document Origin:

Industrial

Document Source:

07524

Document Type:

Parts list

Supply Items And Quantities:

Cylinder 1/14 in. Port 1,  vane - carbon 3,  spring stainless steel 3,  head 1,  caphead screws 5/16 - 18 7/8 8,  cover head 1,  caphead cover

screws 5/16 - 18 x 7/8 6,  gasket - head cover 1,  shaft and pin assembly 1,  rotor 1,  groove pin 3/8x3/4 2,  crand arm 10 in. 1,  grip handle

1,  pin handle 1,  jam nut - handle pin 3/4 -16 1,  large gear and shaft assembly 828b model 1,  small gear and shaft assembly 807b model 1,

 large gear 807b model 1,  small gear 828b model 1,  washer 2,  key - gear 1,  seal - shaft 1,  oil cup 3/8 in. No. 301 gits style r 1,  jam nut -

shaft 5/8 - 18 1,  o-ring cylinder buna-n 1

Shelf Life:

N/a

Unit Of Measure:

--

Demilitarization:

No

Fiig:

A23800

https://aerobasegroup.com

